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Graphing Logarithmic Functions

Without a calculator, match each function with its graph.

1. f(x) =log,x

4. f(x) = %logz x 5 f(x)=2logy(—x)

4’

Period:

2. f(x) =log,(—x)

A

B.

2,

\ (2, 1')/

I

1 \

(1,0

(2,-2)

C.

Score:

First attempt due:

Final corrections due:

3. f(x) =2logy x

6. f(x) =—-2log,x

(-2, 2)

41,0

{q" %

J 0

\%

Graph without a calculator by finding all info below. Label all points and dash in asymptote on graph.

7. f(x)=3logix+2
3

Ll

a= b= c¢c= h= k= Domain: ]
Asymptote: Range: 3
Anchor Multiply y Divide x Add Add 2
points by by ___tox ___toy :; ‘
( 0 2 1_1 01 2 3 4 5 6 7 8 &
( 1 -2 J(5:-2:39)
¢ -1 -3
8. f(x) = —log; (—lx) ~
3 7
a= b= c¢= h= k= Domain: 1
Asymptote: Range: 5
Anchor Multiply y Divide x Add Add *
points by by ___tox ___toy -5 1 _53‘.3 ‘
C 0 3]
C D o
( 1) -10 -9 -8 -7 -6 -5 -4 -3 -2 -1_1 o
-2




9. f(x) = —2logi(x—3)—-3 2
: . 1 °

a= b= c¢= h= k= Domain: 0 7,1

Asymptote: Range: ] 61 2 3 4 5 6 7 89
Anchor Multiply y Divide x Add Add y
points by by ___tox ___toy 3
(0 N
C ]

-1
C D N
10. f(x) = —logs(3x — 6) 5

a= b= c= h= k= Domain: 2

1.

Asymptote: Range: 0 . I
Anchor Multiply y Divide x Add Add | 01 2 3 4 5 6 7 8 9 10N
points by by ___tox ___toy s o
( ,0) N (5,-2) )|
( 1) 4 (11,-3)

( 1'1) -5+
11. f(x) =2logg(—x) + 3 61
°
a= b= c¢= h= k= Domain: (-10, 5.6) 51
Asymptote: Range: 4
34
Anchor Multiply y Divide x Add Add
2
points by by ___tox ___toy
1 B
( 10) 0
( 1) 11-10 -9 -8 -7 6 -5 -4 -3 2 -1 |0
-1 1
( 1'1) -2 1
12. f(x) = 2log,(—x +4) + 2 -
T 4
a= b= c¢= h= k= Domain: £ -
-4 5
Asymptote: Range: o) 51
Anchor Multiply y Divide x Add Add H
3 4
points by by __tox ___toy .
C .0 '
( D —_— . >
-5 -4 -3 -2 1 01 2 3 4 5 6
( ,-l) -1

-9 1
-3 1




